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An open-top box is to be made by cutting squares of side length
x from the corners of a 20 by 25 inch sheet of tin and bending
up the sides. How large should the squares be to make the box
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A cable television company is laying cable in an area with
underground utilities. Two subdivisions are located on opposite sides
of Willow Creek, which is 100 m wide. The company has to connect
Points P and Q with cable, where Q is on the north bank, 1200 m
east of P. It costs $40/m to lay cable underground and $80/m to lay
cable underwater. What is the least expensive way to lay the cable.
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